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Fluent in Five

Word Problem

1) 845+__ =2123 Miss Marsh bought 5 new pens for £1 each.
2) MMDCCC = Mrs Allen bought 9 new books for £6 each.
3)__ +6=24 How much more did the Mrs Allen spend
4) 45x___ =4,500 than Miss Marsh2
5) fof63=

Explain it Chdllenge

True or false2 When you multiply any whole
number by é you will get an even number.
Explain why.

A parcel costs 55p to post. | had to put 8
stamps on it, which were worth either 10p
or 5p. How many of each stamp was on
the parcel2
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Fluent in Five

Word Problem

1) 845+1278=2,123 Iiss Marsh bought 5 new pens for £1 each.
2) MMDCCC = 2800 Mrs Allen bought 9 new books for £6 each.
3) 144+ 6=24 How much more did the Mrs Allen spend
4) 45100 = 4,500 than Miss Marshg
5) Zof63=49 £49 more

Expl Challenge

True or false2 When you multiply any whole
number by 6 you will get an even number.
Explain why.

True, because even x even = even and
odd x even = even. §is an even number so
the product will always be even.

Aparcel costs 55p to post. | had fo put &
stamps on it, which were worth either 10p
or 5p. How many of each stamp was on
the parcelz

3 x 10p stamps and 5 x 5p stamps





